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FEFHETETAAAQZRX
FRERERAOGIEAZEHZED) %*D2£E7H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 296 366 400 766
AER1TH 1,039 1,178 1,300 2,478
EARI2TH 1,216 1,089 1,429 2,518
A R T 2,279 2,343 2,568 4911
BERT1TH 525 537 583 1,120
B ERT2TH 414 429 471 900
B ERI3TH 315 358 343 701
BEBRT4TH 534 490 530 1,020
B ERSTH 828 917 917 1,834
I ER6TH 369 403 423 826
HiF = HT 549 621 655 1,276
45 KHT 466 539 561 1,100
HHT 1,003 1,130 1,263 2,393
BEHT 58 59 65 124
A K BT 620 726 742 1,468
7 HT 444 454 460 914
RICET 474 514 541 1,055
FORHET 200 203 232 435
RFHT 210 214 247 461
KHET 371 347 394 741
KET1TH 235 251 290 541
XKET3TH 287 337 317 654
XETATH 887 829 1,043 1,872
fit] LLI BT 2,379 2,785 2,888 5,673
JE LT 971 1,110 1,214 2,324
EHERT2TH 297 436 435 871
EHERISTH 432 537 551 1,088
EHERT4TH 377 448 478 926
EHERSTH 332 394 465 859
EHERT6TH 204 273 263 536
EHERT7TH 163 245 252 497
=Y:i 334 350 397 747
8 [F T 1,607 1,492 1,760 3,252
=i ET 508 545 625 1,170
2l 3t BT 476 606 569 1,175
N =15 100 120 124 244
+HEFRT A 635 649 708 1,357
L EFHTER 865 762 870 1,632
L HAET 2,093 2,340 2,441 4,781
LFH¥ABT1TH 73 123 121 244
LH¥\ET2TH 158 162 179 341




HEZ HH 5 £ i
LFEI3TH 154 154 178 332
L¥AET4 T B 155 165 195 360
LFEISTH 214 272 294 566
I == HT 209 217 245 462
JOSFET1TH 551 529 560 1,089
JNsFET2T H 548 540 566 1,106
JO=fET3TH 416 436 408 844
M=rET4T H 1,103 1,116 1,154 2,270
I S5k T 587 609 664 1,273
I=F5di) 233 218 266 484
Jt B BT 30 38 39 77
E[d:) 405 353 356 709
478 = HT 804 920 983 1,903
FHRHET 78 88 97 185
1 2 FF T 368 425 457 882
BEFE1TH 87 112 120 232
BEFE2TH 285 336 344 680
T EHT 130 150 148 298
/N BB T 3,080 3,162 3,378 6,540
1R HT 259 290 309 599
YEZF HT 744 740 806 1,546
EXBI1TH 272 248 283 531
=/ LLIHT 223 164 126 290
Hh ek HT 18 18 5 23
T A EHET 10 12 10 22
THHEE1TH 717 680 732 1,412
THHEE2TH 537 585 568 1,153
THHEESTH 787 802 939 1,741
TEHE1TH 191 192 186 378
TEHRI2TH 817 776 887 1,663
TEHRISTH 161 164 177 341
TEHRI4ATH 85 89 96 185
TEHRISTH 228 244 256 500
T HAET 667 714 748 1,462
THET1TH 353 361 366 727
THET2 T H 461 448 484 932
TH¥BISTH 203 202 236 438
THABTATH 158 156 187 343
HTAEHET 24 23 9 32
T 189 190 192 382
#8)11 BT 44 46 54 100
KT HT 304 327 354 681

e K HT 1,690 1,735 1,895 3,630
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HEZ HH 5 £ i
FSIED 268 325 319 644
XLAT1TH 854 816 951 1,767
XLAT2T B 314 345 360 705
X#ILET3TH 147 159 168 327
1 [ BT 49 66 81 147
hHET1TH 360 380 412 792
hHET2TH 455 485 533 1,018
hHBEI3TH 439 519 529 1,048
niEld:) 255 247 290 537
th 2 JEHT 233 217 253 470
ch T 128 129 168 297
FRAHT 766 885 884 1,769
At A ET 882 899 1,046 1,945
75 K ERET 786 988 1,025 2,013
75 2 [N HET 1,662 1,851 1,996 3,847
A 804 782 889 1,671
SFHEAT1TH 541 470 544 1,014
SFHEAT2TH 419 394 471 865
$FHEAI3TH 208 225 234 459
| BT 428 483 517 1,000
YHET1T B 373 480 489 969
HET3T B 359 400 444 844
HET4 T B 116 112 139 251
J\ & T 991 1,088 1,142 2,230
J\HHT 172 219 224 443
+ A ERT 268 327 359 686
T A HT 2,215 2,278 2,439 4,717
THB1TH 24 21 21 42
T4HB2TH 1,461 1,383 1,375 2,758
T4HBI3TH 196 176 183 359
THHB4TH 370 311 377 688
T4HHB5TH 969 711 981 1,692
THHBI6TH 228 237 275 512
THRI7TH 361 396 436 832
T4HBISTH 391 420 434 854
THRBOTH 387 460 508 968
T4WB13TH 313 357 397 754
AR NBHT 1,993 1,742 2,011 3,753
HARRHET 1,343 1,248 1,252 2,500
HEARK/ERET 287 376 392 768
HEARICEHT 164 170 181 351
o NEL) 137 125 137 262
Z AR hHET 202 228 261 489

3./5%%



HEZ HH 5 = 5
FHARAKHET 432 459 499 958
H AR EHT 323 347 383 730
EHARE)IIET 292 280 302 582
e N=TN ] 108 119 135 254
FH AR JTHT 105 100 117 217
EARERHE 668 570 668 1,238
B K BRHET 387 399 406 805
Edsa] 898 918 1,029 1,947
BIERT1TH 763 739 769 1,508
BEIFRI2TH 597 604 686 1,290
BRFEIST H 351 413 409 822
AIFTET1T B 421 379 437 816
AIFTET2T B 593 601 664 1,265
AIFFAT3T B 592 692 742 1,434
A HT 187 215 199 414
H_LH 216 278 300 578
NEL] 817 807 872 1,679
ERL 722 899 914 1,813
= HHE 1,722 1,945 2,052 3,997
HEXHRET1TH 581 657 678 1,335
HLIRET2TH 518 609 640 1,249
HLAREISTH 293 374 375 749
P fx T 318 371 401 772
mLERI1TH 1,164 1,134 1,289 2,423
mERI2TH 855 987 1,080 2,067
A HT 1,332 1,400 1,571 2,971
= RITET 531 516 555 1,071
= AHT 351 284 354 638
AR#HT 10 9 4 13
=) 498 578 525 1,103
SHA1TH 713 643 801 1,444
S HHET2TH 403 443 466 909
aHEI3TH 854 753 919 1,672
S HET4TH 771 652 868 1,520
E& T 1 1 0 1
J\BRET1TH 209 274 266 540
J\BRET2T B 220 238 234 472
J\BRBT3TH 238 291 300 591
1Tl 288 431 419 850
FHEIBRT1 TH 135 165 172 337
FHaEIRT2TH 301 434 464 898
FIaTET3T B 11 25 15 40
ENOER1TH 18 27 24 51
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HEZ HH 5 £ it
FEOER2TH 0 0 0 0
EOER3TH 23 20 3 23

HWEEt 88,350 | 92,767 | 100,604 | 193,371

5.5



